SET-4

Series GBM Cackd
Code No. 49
e J. wiierefl el IH-YFEH F TE-I8 W
Roll No. 73T forg |

Candidates must write the Code on the
title page of the answer-book.

o FHUA T F A foh 30 TH-IT H Yigd I8 12 2 |
o TH-UF ¥ fE g1 I AR U MU g T B IW-YfEdwh & §E-U8 | o |
o FRIIT WA H AT H 1275 F |

o  HUAT U T ST TTEAT & I | UgSA, T 1 shilTeh a9 fo1d |

e T YW-UA H Ugd & AU 15 fire o wma fem man 2 |y o faawor s 8§
10.15 S fopam ST@W | 10.15 1 & 10.30 S a9 B hdd TH-UF hl el 3N
39 A o CH o IT-GIETRT W HI5 I 81 T |

¢ Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 12 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

TERad (Ufeown)
SANSKRIT (Elective)

Gl : ERIATY quTigT: : 100
eiRa a7 : 3 g2 37T 37% : 100
Time allowed : 3 hours Maximum Marks : 100

49 1 P.T.O.



g :

139 :

Instructions :

49

FHATITE TG JIAHGHIN, GEha-d9 AGHI |
55T G 7 &, q& T ol F IR qeha 4 & o |

Answer all questions in Sanskrit, unless instructions are given

otherwise.

ST Jo797 e GUST: Gl |

39 J97-97 § AR @S 3 |

There are four sections in this question paper.

s & HYTSATY — TG (FASAT — STaeied)

SECTION A (Unseen Reading Comprehension)

gue: @ GEh THTCHRTEH (F5hd H TEATHS <ie)

SECTION B (Writing Skills in Sanskrit)

Qug: T gfedre — STaEIgs TRhael eI Ii=d: =
(qfedTer — JTEEIYA Td Tk Hiiged qi=)

SECTION C (Reading Comprehension and Introduction
to History of Sanskrit Literature)
T ue: g TRISAFN: (Vg T ITAFN)

SECTION D (Metres and Figures of Speech)

40+10=50 A
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W@us: & (SECTION A)
ATSATIT — STTTUTH
AITSATIT — AT
Unseen Reading Comprehension 15 3gT:
FYIfRgay Sgsegd dfecal YEaueH H&hdd 30 |
frfafaa gt sg=aal %I Yget iU T JeAi o 3T TWha ° T |

Read the following two passages and answer the given questions in
Sanskrit.

(%) YuH: ATDeE:

el I%aq — 9 ion weE: vafd 0Ff ¥ can wed |
qRaay dfeh-J0 Ao TREmE TUHEREiq | a%da: 9N 9 AR |
Sfiamee gt asht T: | Thd o o1fU vae Sfaaer wifa: 9 wafa |
AR QT AMHT: ATHAVHAN: TRAIY AT, dgl d ;. T8
AR, Hpa | a1 ARIon wegenef qrel feufd: 18 v stwad | sgHmi
Ao feufa: Afcewrgmageft mifca qonfu wderor Aiererdehmne 31k
IUTT: Fdl: | A YR A A gEY: T8 T &Y SRl A |
AT
(37) TehHCT 3T |

T IT6g H IR AT |

Answer in one word. ~x2=1

(i)  HIEH I AT TR T ? ?

(i) TE§: F A =9 HS bl W: ?

(¥) YuiameRH 3T |
quf areRr ® IR T |

Answer in a complete sentence. 2

s T T e w2

(|) FurieI™ ITa |
FoTieR I Y |

Answer as directed. éx4=2
(i) ‘omTesd 3fd fshaTdes shqug ford ?
(i) ‘e 3fq yee foretmug fopy 2
(iii) @ 3fd TS HE TFH ?
(iv) ‘emygfes s foemorey fowrsy fog 2
3 P.T.O.
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(@) fgda: sgese:
TEIEqu Yewul fifay wafd — SIIguuE, SYugyu, EaHyIgyue
T | Yk F AHIGIE A HAEEl A | IS Wifdes I
wwaﬂgﬁﬁwwﬁﬁwmwwﬁwﬂmﬁaﬁﬁ | 91 had

FATORY S HIGEUR TS HEd, THATEAATY Y @ e et
AAY HIG@EAHl A& hlaRd: Wafd | s S

e AR
e erferfamn: fafafdan:

CAIGYU YERAR | S g gseal HehRvl
| | S e ueW 9 $dfd | ud

AT qrad F%a: | Wi~ e Taw 9iead | viosafd | qee
ATCHAI0T Ud TaET: THEIET: THIEH TR |

94T

) TS A |

T &G H IR T |

Answer in one word.

() T THE YIEEl IEd ?

(i) iifoeh T TR waeda 2

UigTERH 3T |

qof areRr ® IR T |

Answer in a complete sentence.

TGNV FHIYM e FFWE(d ?

ey I |

JeTies I GfRTT |

Answer as directed.

() ‘yEEa=r i fhamaes ug o ?

(i) ‘FHRIE:’ 3 9geA foh TSy o1 TYFH ?
(iii) “drfores’ 3fd uew faaiug foeg 2

(iv) ‘rcatesy’ gfa foemore fosrsy femy 2
ITE ATTITH hd IUYH Wh Tepd forad |
39 3TITRE o OIT IUYH I¥eh T&hd H AIRIT |

Write a suitable title for this passage in Sanskrit.

Ix2=2

2x1=2

Ix4=4
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Wus: @ (SECTION B)
GEhd TOATCHRTETH
HEHA T TATHS @
Writing Skills in Sanskrit 15 37I:
Hoo[uTa: 3feaagar Teical Tdifiiaal el e g4: foea |

Too[l ¥ 3fud wga oo FrefaiRaa e w1 qof e 3: fafaw |
Complete and rewrite the following story, with the help of the words

given in the box below. Ix10=10
HAT

T A Q) S 1w @
ANI=Bq — ‘ASfeehIawd @& (i) =" HAH | HARRH
(iii) gl wfasafy st wRAfEd (iv) S IBECG ]
FE w2 disded — ‘O TR g wfag deeiw w wfdafed
(v) Faqerq wafd | siqad — feat il 3d 9q STermeR:
(vi) foreeh:  otwad ¥ AWy =EH N | T
(vii) T qvE el AY=sd — A gfecn waH Riees: wma:,
(viii) e feufd 3 M 20 9gse: STORTeR:  areraq
3GAd, — G (ix) Ay T | A1 ¥ HIEE: Wiehd: 4: i
(x) A | Udegean e grom s1wad |

HeS

Tary, foeufu, =men, foemed, omem, fafuwder, Iwye:, <,

fRrerepmomy, fiem |

HoquId: UaIH focean ‘hifaee:’ 3 fawem sifuecy uswr ameRe Shdd
o |

oo § UG g FIfig:” 39 fav W H%ehd § uie 99 fafey |

Write five sentences in Sanskrit on ‘®Ifeigd:’ with the help of the words
given in the box below. Ix5=5

HSTHT

Hid:, IAfEd, A, foaTs:, dChd, 3Ivad, TE:, YHg:, v, af,

AT, ARHS-eH , qed:, H1, eI, JA¥Id, I, 9, qaeH |

5 P.T.O.
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Qus: T (SECTION C)
TSATIT — AT TR geaed Uied: o
TISATIT — ST TS TEhd ATged THad
Reading Comprehension and Introduction
to History of Sanskrit Literature 40+10=50 37gT:

FYNTARIIH T, &, AT 9 idcal JEaue- H&hdd It |
frferfaa mermer, 9@ Td AIeam i Ugeh U T Sl o I HERd § ST |
Read the following prose, poetry and drama passages and answer the

given questions in Sanskrit.

(%) e

“Td gherUIETE: @ fashHl TS el TRt — o781 SIS
TER:, ®al H foh afosdifa 7 @ | T=wiSaen o qefa
AV Te | wafd 1”7

94T

(31) THIH ITQ |
T e H I G |
Answer in one word. ~x2=1
(i) TS <higr: ITEHI ?
(i) <h: 3TER; IIfE&d ?

(9) qofaTeRA IR |
quf areRr ® IR T |

Answer in a complete sentence. 2
for %: fomm Iwe 7 wafa 2

(|) FurieIM I |
FoTieR I Y |

Answer as directed. 1x2=2
(i) ‘g9 I 9 &: ?
(i) ‘fawem =7 foetmug fory ?

6



(@) 9=™

‘ T T ORI
faryaguerafy: e |
TOTHRHTI Faidiehed e,
faorefe faera=a: af< g=a; fra=a: 11”
9T
(37) THUCH ITQ |
Teh e H I T |
Answer in one word. z x2=1
(i) Bgad ®9 fef 2
(i) T=: M Fadipc e Fefe fawaf 2
(9) qofaTeRA IR |
oot g | I @i |

Answer in a complete sentence. 2

W;@'{?ﬂ:ﬂaﬁ?

(|) FoTiHeIM 3T |
Ffadsr ST T |

Answer as directed. 1x2=2
) " e faetmug fohy 2
(i) ‘|f=< 3t framree shqug e 2

(M) AT
“Higeer — ST | AT o "I ? TR 91 qraq 2
oq:  —AR |

FIGT — qd: B <] ?

TF: — WEd: GRIGTHGIE aTeHih: |

FIGT — I 1d | AT HAF |

#g:  — udreed S |
(FI%Q’J'HTW)

Foq: — PUR | PAR | ATAISTE 3 HIST afemier SHIaI2E,
TISTY_ STYATSTHTN: T Teefiepa: 17

7 P.T.O.
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T
(3)

Tehder I |
Th ¥eg H T T |
Answer in one word.
() ST v T R 7
(i) “amr:’ 3=y foetmug fopy 2
(9) qofaTeRA IR |
oot gy § I @R |
Answer in a complete sentence.
STy fopm srgaEd 7
(|) I ITa |
Fenface 3w dfT |
Answer as directed.
() ‘orm 3fd wdaTYE e SEY ?
(ii) ST’ 3 feRaTIEE Squg foRm 2

SegTY Hertrean fo@d |

gl 1 AT & e+ fofeu |
Match the words with their meanings and rewrite the same.
Iloq el
(31) o @)  feremeff
(¥) 9| () ¥
@) T (iii)  3eHIYq
(®) TR (iv) g%
@IfgaueT Y SRAHE Hed |
TEfEd ugi o naR W ywH-fmi il |

Frame questions on the basis of the underlined words.
(i) e gEiHeh: awaen feum: Fa: |

() qe: foaee s g feam: |

(i)  WEgERT FETedTe 7 Jafd |

(iv) ‘ai'*[ FIafy AR |

—x2=1

I1x2=2

1 q4=2

Ix4=4
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FgifaRganTane=t: feaemyfd qesumueHs™aa faed |
frafcTiaa gt wendi # weswn # CU 7T veg) i HEEd € fh €AEi S id
e Ty |

Fill in the blanks in the following two explanations with the help of the

words given in the box and rewrite the same. éx12:6
(31)  “sry=an: gfemfa Asfermyured |
Tl 4T 39 o i F 3 e w@m: 1”7
G ICID R
I T O3E) FUBAHTSTIT IM(e (i) Fafd, d
JIAFFESR  (iii) gaead: yaf | A S o
(iv) P | T (v) AU I[GAATET. qalsid
(vi) BRI Tl |
(@) “goeHed: ddd S HH TEER |
STEHAN BTEhH TRHTHTT Tou: 117
G ICID R
(i) AT — @ = ) yfcar A % |
Taed (iii) FHaeqdEd | T: (iv) FTEFANTH SHAT
U T: (v) T g faefi = (vi) ¥
TSIt

TeIaHY, FEATE, A, e, e, S, wad:, Wa,
IMTE:, GiFay, T, Af |

Sefafgaa: vetieha: stTaarga feraeamyfd $ea |

fefetfiiad g1 Iaiehl & 3=t § T Tl &1 qfd i |

Fill in the blanks in the following prose-order-renderings of the two

verses.

(3)

“Trea favafafa fader

IERICIERIGEIRE Il

EEINICEIRH IR

SHicd: YU IA-gRrsT: |7

AT

EEISICE ) AR B (1)
- RwfesmioTenisSiad, 4 (i) TS |

11411=3
2 2

e

P.T.O.
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Wﬂﬁ?ﬁﬁqﬁqﬁﬁﬁ: |
ST ATIBAIH[:
Tqrad HlaR gamafree: |
A dY:

g ! &l{uqqolqldhhcwqjﬁz 1) JafIrse: fam: °d (i1)

SRRET fase (i) |

b

TG I |
Mt I G |

Answer as directed.

(3)

i : £ o f |
al ud fspamag g | ,
Select the subject and the verb. —x4=2

(i) & J9a: HY I ?

(i) Trdenfy sy 3wt 9fg: |
fereoreg foa |

foriwor 9 gfw |

Select the adjective. 1x2=2
(i) T e o= T 98 |

(i) ©N T TSIgEataurag vafd |

AYfARgaISF: {@Tgaaa-Tmug el T ?

frefofiga airdl o t@rfgd gaam ug fheh feTT S 5T @ 2

In the following lines for whom are the underlined pronouns
used ? 1x2=2

() ‘S weMly dEeH TR foedar: yaf< T

(i) ‘Y gefeagesii: THIe™ drugh S=fd I

Freffaaugioasa TgamE:’ ad Sag:’ 3fd ugal: gumdes qe
forea |

freffaa afeal & 9 FgEmE:’ qu See:” 9al % qHmiee ug et

faRam |
Select and write the synonyms of the words ‘ggrard:’ and <oie:’
from the following lines. I1x2=2

‘TIGRETG Al WEH, FogaTd:, Ueh: HREEHINIHRI: THE-gals-ah:,
T = fgforar semrenfiy: |

10
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&: & HAANT ?

i TohEhl e &I 7 ? }
Who is saying this to whom ? —x4=2

(i) ‘T AW THAEES: ST T |
(i) “ATEHTR FEITSHAT hal A1 yedd |

AN TARITAGH T LY Tehed hiegey A1 forgd |

fafafaa st & Tl wer wrea =1 9w ol |

Write the names of any one work of each of the following poets. Ix5=5
rfrareprgae™:, 4. gfihy-vemmr:, yayfd:, off Igeret-gm:, wrfa: |
FNTARIAEAHT @Ml AT fofed |

fafafaa et & @l & 9m fafgu |

Write the names of the authors of the following works. Ix5=5

T, Te-ATa:, MiEfemE:, Hewd, ag-am: |

@vus: ¥ (SECTION D)

BRISAZT:
Metres and Figures of Speech 20 3FgT:
I I |
T % I AT |
Answer the questions. I1x2=2

(i) ‘AR 3T HI A 2
(i) ‘T 3 AU 3fq T T: AT ?
FGIFARGAIRATT: T |

Fretefiga aitaTTett =i @ HINT |
Complete the following definitions. Ix4=4

G gfe Gt s 1

i) _ FowemdiE I 1

(i) @: wefwsan Rrafoft
(iv) ‘Oeemplarmgia Ty |

11 P.T.O.
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ANARTAA: ThET Ded: I8 forad |
fFafaftea 4 @ Tl v o< o1 e fafgu |

Write an example of any one of the following metres. 2
IRl AT |

IrgifIRaausacal: b 76 &g: 2

Frafafga dfeaat 8 SR o< g 2

What is the metre in the following lines ? 1x2=2

(i) I Waq =9 U TogEd: higa: |

Gi) ‘Frefe fowa:; af< g=: e

AfARgaa: FEeRe g AeElul dev forad |
frafaRaa @ & foreht wer STeqrergR &1 3gretwr dfga aer fafew |

Write the definition and example of any one of the following
Shabdalamlaras. 3

IHY, TAY: |

ATARGTR FEATTIRT IATAFHE AJUHETE 9 foEd |

freaferfiea o @ foret wer srarfergr 1 @atwT way 3grewr fafaw |
Define and illustrate any one of the following 3191ic_'1€;$ll. 3

39HT, AT |
arefeRadugaen: sTagr ffdera |
frfafaa dfet 3 srergr @1 fdw i |
Indicate the figure of speech in the following lines. Ix2=2
(i) IS ITAR fogarad |
(i)  feer Sicam™ TaEre urg gEUiE Iy |
AgTfARIquRTITgE & |
freferfia 2wt TR gt HIfA |
Complete the following definitions of the two figures of speech. 1x2=2
i) I |
i) ¢ IceT Feha e TIHT |’

>

12 500



